Ersatzteilpreisliste | Spare parts price | Tarif pieces détachée ) Collomix

RMX 29.07.2020 Seite 1/2

Collomix GmbH Telefon: +49 (8458) 3298-0 Geschéftsfuhrer: Sparkasse Ingolstadt
Postfach 11 46 D-85078 Gaimersheim Telefax: +49 (8458) 3298-30 Alexander Essing IBAN DE66 7215 0000 0000 1006 10
Daimlerstrale 9 D-85080 Gaimersheim E-Mail: info@collomix.de Registergericht Ingolstadt HRB 127  BIC BYLADEM1ING

GLN 40 11024 00000 2 EORI DE2984431 Internet: www.collomix.de Steuer Nr. 124/123/60018 Ust-IdNr. DE128579719



Ersatzteilpreisliste | Spare parts price | Tarif pieéces détachée

©O Collomix

RMX 29.07.2020 Seite 2/2
Art. Nr. Preis €
Order No. Price €
POS| N°réf | Artikel DE Designation EN Designation FR Prix €
14300 | 45649 | Standbein Supporting leg Jambe de pivot 21,70
14301 | 51165 DIN 1445 Bolzen 10x31x45 DIN 1445 Bolt 10x31x45 DIN 1445 boulon 10x31x45 5,00
14302 | 51166 | DIN 2093 Tellerfeder d1 8,2 DIN 2093 Plate washer d1 8,2 Rondelle conique d1 8,2 0,60
14303 | 51167 | DIN 2093 Tellerfeder d1 10,2 DIN 2093 Plate washer d1 10,2 | Rondelle conique d1 10,2 0,60
14304 | 51077 DIN 6340 Scheibe 10,5 DIN 6340 Washer 10,5 DIN 6340 Rondelle 10,5 1,10
14305 | 37172 | Sechskant-Hutmutter M8 Hexagon cap nut M8 Ecrou hexagonal M8 0,40
14306 | 50803 | DIN 912 Inbusschraube M8x70 | Socket head screw M8x70 DIN 912 Boulon Inbus M8x70 0,50
14307 | 37172 | Sechskant-Hutmutter M8 Hexagon cap nut M8 Ecrou hexagonal M8 0,40
14308 | 45663 | Gasdruckfeder Gas pressure spring Ressort pneumatique 51,50
14329 | 50027 DIN 125 Scheibe B8,4 DIN 125 Disc B8,4 DIN 125 Rondelle B8,4 0,40
14309 | 51168 | DIN 1587 Hutmutter M8 zn DIN 1587 Cap nut M8 DIN 1587 Ecrou borgne M8 0,60
14310 | 45650 | Sdule Column Colonne 77,30
14311 | 45651 | Klemmschieber Slider Coulisseau 56,70
14312 | 45647 | Spannhebel verstellbar M8x30 | Clamping lever M8x30 Levier de tension M8x30 6,80
14313 | 50804 | DIN 934 6-Kant-Mutter M8 DIN 934 Hex nut M8 DIN 934 Ecrou hex. M8 0,40
14314 | 45652 | Gelenkarmsaule Hinged bracket Bras articulé 98,90
14330 433 Collomix RMX Aufkleber Collomix RMX sticker Collomix RMX autocollant 2,60
14315 | 45653 | Rohrkappe Pipe cap Calotte de tube 3,70
14316 | 45654 | Zentrierung Centring device Centrage 4,70
14317 | 45655 | Haken Hook Crochet 8,00
14318 | 51169 | DIN 6799 Sicherungsscheibe 5 DIN 6799 Lock washer 5 DIN 6799 Anneau d’arrét 5 0,40
14319 | 45656 | Druckfeder Compression spring Ressort de pression 1,60
14320 | 45657 | Lamellenstopfen Filler plug Bouchon cuvette 1,70
14321 | 45658 | Gelenkarm Hinged bracket Bras pivotant 57,70
14322 | 61299 Fett EP2 150 gr. Grease EP2 150gr. Graisse EP2 150gr. 10,10
14323 | 45659 | Gelenkbolzen Hinge bolt Boulon de bras pivotant 9,70
14324 | 45662 | Gleitlager Bush bearing Palier lisse 6,30
14325 | 50089 | Tensilock-Schraube M10x25 Self-locking screw M10x25 Vis autoblocante M10x25 0,90
14326 | 50115 | Tensilock-Schraube M8x25 Self-locking screw M8x25 Vis autoblocante M8x25 0,90
14327 | 51170 | DIN 582 Ringmutter DIN 582 Lifting Eye Nut Anneau de levage femelle 1,30

* = siehe Collomix Preisliste / refer to Collomix price list / voir Collo89mix liste de prix

Produktgruppe / Product Group / Groupe de produits 901

Alle Preise verstehen sich in Euro, im Inland zuziglich Mehrwertsteuer. Ab 200,00 € Netto-Warenwert liefern wir innerhalb
Deutschlands frei Haus, Verpackung frei. Unsere Lieferungs- und Zahlungsbedingungen sind Bestandteil des Vertrages. Mit
erscheinen dieser Preisliste verlieren alle fritheren Preislisten ihre Giiltigkeit. Anderungen und Irrtum vorbehalten.

Our prices are to be understood in Euro (€) for. Our conditions of delivery and payment form part of the contract. Delivery ex works
(EXW) With the publication of this price list, any former prices are no longer valid. Subject to changes and corrections.

Nos prix s’entendent en Euro, sans T.V.A. Nos livraisons et nos conditions de paiement sont partie intégrante de notre contrat.
Livraison départ usine (EXW) Avec la parution de cette liste de prix, toutes les listes précédentes perdent leur validité. Modifications
et erreurs sous réserve.

Collomix GmbH

Postfach 11 46 D-85078 Gaimersheim
Daimlerstrale 9 D-85080 Gaimersheim
GLN 40 11024 00000 2 EORI DE2984431

Telefon: +49 (8458) 3298-0
Telefax: +49 (8458) 3298-30
E-Mail: info@collomix.de
Internet: www.collomix.de

Geschéftsfuhrer:
Alexander Essing

Registergericht Ingolstadt HRB 127
Steuer Nr. 124/123/60018

Sparkasse Ingolstadt
IBAN DE66 7215 0000 0000 1006 10

BIC BYLADEM1ING
Ust-1dNr. DE128579719



